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1.  Primary source of livelihood in India is:

(a) fishing (b) transportation
(c) agriculture (d) tourism

R # AT T yrafis gid -

(a) weetaEHsT (b) uRee

(€ (d) wded

2.;’/5(,5)_(;':(& e e xt

T S © oo @

=L (d) = (c)
2. The Kharif crop are usually sown in the beginning of:
(a) April (b) July
(c) October (d) December
GG B BT AAR R e wé 7 arg At 8 2
(a) onw (b) T
(c) mrER (d) R ,
‘e dedst oy S Ui
duz (b) Jg @
75 (d) 2 ()
3 Which one of the following is dryland crop?
(a) maize (b) rice
(c) sugarcane | (d) vegetables
frferfaa & ¥ B-HT IF FEA S ?
(a) was (b) =mEw
(c) w=m (d) afewf
°‘¢y -@JUJKJ:J. By
J}_lg (b) 6‘( (2)
P.T.O. vbx () & ©
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4. In democracy decisions must be taken by:

(a) elected rulers (b) president

(c) army officials (d) P9lice officers

et i e A T AR FHHDI ¢ ?
(a) Fraffa as (b) Tsmf
(c) &ma aferrt (d) g siferd
A O S
o o () VAEF @
uu/"u)g (d) sl s ()
5. A primarily set of rules and principles specifying how a country should be governed

and what rights citizens possess is known as:
(a) rule book (b) constitution
(c) law (d) service book

frawt frgr=t Y @& T foret Ariftat @ srae oi sas Wi siftrer yere
FEATE, SAFRTHFEAE ?

(a) frawfdrae gas (b) e
() =@ (d) e qe
‘e Vot e OFPLUY I L S o Poard Kool
LT (b Ul (a)
VUi (@ U6 (o)
6. Teachers day is celebrated in the memory of:

(a) Sir C.V. Raman (b) Sir S. Ramachandran

(¢c)  Sir Sarvepalli Radhakrishnan (d) Sir. S. Ramanujan
freres feaw fraat are & wmar s 2

(a) wTHio dto T
(c) S HETT TaTHW

(b) T THo TR
(d) & THo T
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9.

S bl L

szl (b) G- (@)
PRl () Fdy s ©
The constitution day of India is:
(a) January 26 (b) August 15
(¢)  October 2 (d) November 26
IR &1 Sfqa= fReg wnd ¢ |
(a) Tres CIEAGILI o7 IAMAMILA ISAMIA |
(c) 02 ¥ (d) 267 |
e bl Tkt
=15 (b) $226 ()
926 (d) | 52 ©
Sarojini Naidu was given the title 'Nightingale of India' by:
(a) Mahatma Gandhi (b) Maulana Azad
(¢) Sardar Patel (d) Bal Gangadhar Tilak
R T R it SR Y SRy R W Y 7
(a) weTTIITER (b) e SR
(c) WERYE (d) arar e foeen
vgwfi.ui,,w(ﬁwucmﬂigt@,/
STty (b) $zeuy  (a)
Gptl) @ Sy (©

By any country, Fundamental rights are granted to its:

(a) tourist (b) citizens

(c) alians (d) foreign investors
P.T.O.
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10. Golden revolution is related to:

(a) Fruit Production (b) Potato Production
(c) Fish Production (d) Egg Production
Tt i e wafaa
(a) wal @SR (b) ST SR
(c) wedhar R (d) st SarET
Yo zlbe ZU/ WIS~
/','4;&0'7 (b) J”’».‘.;JU)’{ (a)
/bLj_;Ju:J?' (d) /btgdué (c)
11.  Emotion is controlled by which part of the brain?
(a) Cerebrum (b) Cerebellum
(c) Thalamus (d) Hypothalamus
WIS Bl AR BT HI-81 IR Fier a2
(a) &@w (b) Fdem
(c) ammw (d) srdRwTE
e /U o Lt (ébfc«@lg
f& = (b) (4  (a)

«f%’y (d) L

(c)
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12. Blood pressure of a health person should be close to:

() 110/90 (b) 120/80
(c) 120/100 (d) 110/100
U T W &1 a1y e arien ?
(@) 110790 (b) 120/80
(©) 1207100 ~(d) 110100
e phrt o ene
120/80 (b) 110/90 (a)
110/100 (d) 120/100 (c)
13.  One haemoglobin can bind to how many carbon dioxide?
(a) 2 (b) 4
(c) 6 d) 8
U BT fher Tl STE Siferaes &Y Qi qapan &7
(@ 2 (b) 4
(c) s (d) 8 -
e Coil St T3 K bt
4 (b) 2 (a)
8 (d)- 6 (c)
14. Pseudostratified columnar epithelium is found in:
(@) Trachea (b) Pharynx
(c) Uterus (d) All of the above
Pseudostratified columnar epithelium qrgr FIETE -ovveveveeennene. H-
(a) 3 (b) e
(c) X (d) wird

P.T.O.
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.l Ll Pseudostratified columnar epithaliyp,

25 © S ()
S (D) URL (o)
15. Healthy person's urine is pale yellow in colour. It is due to:
(a) Melanin (b) Urea
(c) Urochrome (d) Uric acid
At T & U Teer AST 1 A9 T ST R ?
(@) A== _(b) I
(c) T (d) IRwuRrs
' = ‘e e Uttt Lyl
W Lt (o) Jik ()
ALy (D) o (0
16. The primary excretory organ in human is:
(a) Skin (b) Lung
(c) Trachea , (d) Kidney
A IR F grerire ferersfr amem s 2-
(a) (b) et
(c) 3w ()
S ol S fA5 2 U
g% (b) 1z (a)
w/ (@ L2 (O
17.  Mitochondria have following type of ribosomes:
(a)  50s +30s (b) 60s + 40s
(c) 50s + 40s (d) 60s + 30s
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18.

19.

P.T.O.

aTEHIEar ¥ ey ye @ Reaw e ¥-

(a) 50s +30s (b) 60s + 40s
(¢) 50s + 40s (d) 60s + 30s
Sl x ('-"JL UL soinr S L/ﬁf}" L
60s + 40s (b) 50s +30s (a)
60s + 30s (d) 50s + 40s (c)
Vena Cava is connected to:
(a) Right ventricle (b) Left atrium
(c) Right atrium (d) Left ventricle
a'-nmggrz ........................ ]
(a) s (b) awufeam
(c) zdufeaw (d) =sRrafefea
-‘a-..ﬂ/"'bﬂzs
=Ly (b) eSeh ()
=LALL @ efrie (©
ATP provides energy in which type of processes?
(a) Endothermic (b) Exothermic
(c) Isothermic (d) Adiabatic
ATP {1 % & fora itk & St wem &ar 2-
(a) wwfi® (b) Taiaffs
(c) orsaafs (d) ufsarefes
W ‘-“ctz:ét'?ufdw’ < S 3002 ATP
LA (b) LAk (a)
Lt (d) LAT ()
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20.  Which one is note caused by bacteria?

(a) Cholera (b) Leprosy
(¢) Anthrax (d) Measles
T -a e @ Freor TE g

(a) @ (b) A
© www (d)

. M
T . () | YERe
| Sz (@ S ©

21.  Which one of the following is a source of energy?

(a) Sugar (b) Vitamins

(c¢) Roughage (d) Minerals

T A B Sl &1 6 &

@ g () Frafw

(c) W= (d) P

?‘a,g/s(étl?ufc_u:‘jj.yﬂ
gt (b) & @
Jie (@ & ©
22. The first enzyme discovered was:

(a) Pepsin ”(() Diastase

(c) Trypsin (d) Chymotrypsin

forer o ot ward et it g -

(a) o (b) suRw

() o (d) FeRfee
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S35 (b)

o7 (a)
o (d) uis ©
23. Digestion of fat completes in:
(a)  Oral cavity (b) Stomach
(c) Small intestine (d) Large intestine
Tt 1 I8 e e B - ' -
(a) owafadrd (b) ¥w# W
(c) Braitas (d) =@ratad
S twmly 2637
JALH1 () FEAs (D)
LTS (0 e TEE (o)
24.  Which is not true about photo respiration?
(a) Decreases rate of photosynthesis.
(b) Does not generate energy.
(c) Utilizes oxygen.
(d) Does not produce carbon dioxide.
Photo respiration P TR ¥ -4 917 S W 2
(a) wRIEARE@HEAENT (b) Fuit s & &
(c) TR TSI BT (d) et iterares T I
S GGt AL Foi3)
Er B9 (b) (¥~ 39 ()
o B T (D) e T (o)
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25. In plants, transpiration is controlled by:

(a) Guard cells (b) Mesophyll cells

(c) Epidermal cells (d) Xylem cells

et gttt et T —

(@) wEaw (b) TaY BT A '
(c) whHsw@dw (d) Jrsawad s
olf ) Js }-";(ﬁ/ U'J’/‘u: sy
KSorr (b) K€ (a)

A5 (@) S (©
26. If both, length and area of the conductor is‘ doubled then the resistance of the

conductor will:

(a) Increase (b) Decrease

(c) Remain same (d) Double

AR FHvSFE B TS S AABA G AT T AT T ot s 1 =
(a) wem (b) =&m

(c) =éw=m (d) =¥ 7w & s

Z-"a”.uJ%ﬂ?&‘?L)/bﬁ)uj})éjj)'ég({;(ﬂﬁ
S£ ) Sex ()
JLbﬂo{) (d) J‘deu (c)
27. To measure the potential difference between two points in a circuit, voltmeter

should be connected between the two points in following fashion.
(a) parallel (b) series
(c)  across the battery (d) hybrid of series and paralle]
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TF e d A Agaii @ i Potential difference gar &7 @ frg diee Hrex @t

T et & e fore wa & Sivet st -
(a) YW (b) i |
(c) ¥FWIa= (d) dfwraaRaas Hybrid §

EL s 1y UK .‘J»é Z A_/r)"’ Potential difference/ld_ Ly Y. .‘J//»g

oo e v

1z (b) Js @
VHybridl Jasly # (d) HLGE (©
28. Which of the following instrument is used to measure the electric current?
(a) potentiometer (b) ammeter
(c) voltmeter (d) galvanometer
T w¥ &t e & fRve B-an 7= v e e ®
(a) uRFEIHRT (b) wiex
(0 dredrx (d) T
S b U UTL o/ L tdo /9
A1 (b) Ky ()
2k (D) Kok ()

29.  When the resistance of 5, 15 and 6(2 connected parallel, the equivalent

resistance will be:

a) 5Q (b) 10Q
) 3Q ‘ d) 30Q
A5 Q,15 QAR60 Q FH Resistance B Nt w7 A A ot IqQ T97 AN
Resistance gm-
(a) 5 Q (b) 10 Q
» () 39 (d) s0 Q

P.T.O.
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b : Q 415Q 5Q P1
:€vResistancellls e l?u_: Jﬁ{_/ Jf-’( RCSIStanCC£60 /2
| Q
102 (b) 5 (a)

W 30Q  (d) 30 (o)
30, The resistance of the conductor is inversely proportional to:
(a) its area of cross section. (b) length
(c) temperature (d) density
FFzrF7 Resistance, Inversely proportional Bar -

(@) &P Cross Section® WRT 3 (b) T=ED

@ aER ®) @D |

‘e bwInversely proportinalResistance’ /"'/ b

LY (b) LArea £ Cross section_ /1 (a)

LJJ (d) L:ul/ﬁw (c)

31.  The laws states that force between two charges is directly proportional to the

product of charges is:

(a) Faradya's law (b) Columb's law

(¢) Ampere's law (d) Lenz's law
TEFEm s saar & charges % 9 7R ST o @ T BT
(a) wREH Y (b) == 1y

(c) ufgmwsfEg - (d) s =

< byl .,/d:chargesui»ulci lbu.l,/wLCharges”f & CGRYI6y
UIFEA (b)

UIEK 31,6 (a)
U6~ (d)

UIBK 4 (o)
2011320 (SET-D) (14)



32. The magnetic field strength at the centre of the circular coil of the wire doesn't

depends on:
(a) coil length (b) coil radius
(¢) number of turns (d) current in coil
IHT FATA & T B TIH 1T TR T8 AT HEAN-
()  Farw AT W (b) e B WTEW
(c) FEH TR  (d) TR RRE W
35 At Sl Sy
(PLESS ®) AU @
/_..Currentﬁ‘fl/ (d) /_:J'A’.’.J;Lf (c)
33. Process of splitting of white light in seven different colour from a prism is known
as:
(a) diffraction (b) reflection
(¢) dispersion (d) scattering
TerTeT & et Rt & oA o S1G SHe AT T | S A i TR H FEd &
(a) diffraction (b) reflection
(c) dispersion (d) Scattering
I et b Ly L i e piy S LS
reflection (b) diffraction (a)
Scattering (d) dispersion  (c)

34. Convex lens focus a real, point sized image at focus, the object is placed:

(a) at focus (b) between F and 2F

(c) at2F (d) at infinity
P.T.O.
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yaRR @A B
Convex lens @ﬁga}mﬁmmm

W @R |
(a) wmw (b) 2F @ F &
(¢) 2F (d) Infinity
:Lbbﬂf’é’.wﬁct‘&yﬁ&/’v{.&g.gConvex lens
u.lfwﬁ F and 2F (b) ’ 4Ji (a)

Infinity (d) | 42F (o)

35. An object is placed at a distance of 0.25 m in front of a plane mirror. The distance
between the object and image will be: |
(@ 025 m (b) 1.0 m
(c) 0125 m (d) 05 m
IR At I A us  Plane mirror & W 0.25 HiZT & U I T&@T AT At 39
Feg it Image & e 2 g @it

(a) 0.25% (b) 1.0%=R

(c) o0.125%R=T (d) o0.5#rRx
S ELE WL Sy 872025 2 L Plane mirroeliW2: 5]
s s — A oz

| 0.5 (d) , #0.125 (o)
36. For a real object, which of the following can produce a real image?

(a) Plane mirror (b) Concave mirror

(c) Concave lens (d) Convex mirror

7ad @ fpg@  Real object gy Real image 3y

(a) Plane mirror (b) Concave mirror

(¢) Concave lens (d) Convex mirror

2011320 (SET-D) (16)



W ‘.’J &real imagJ real objectc—gf =~y

Concave mirror (b) Plane mirror (a)

Convex mirror (d) Concave lens (c)

37. The reflactive index of a glass is 1.5. The speed of light in the glass will be:
@ 2x10%m/s ) 26x103m/s

(c) 226x103m/s (d) 3x10%m/s

% sﬁsﬁ # Refrective Index.s ¥ ofist & o asht  Light &y wfts &
BN ?

(a) 2><108m/s (b) 2.6><108m/s
(©) 226x10%m/s (d) 3x108m/s

?JyzSpeed of lighdbi./}';c.—glass-‘al .5 refrective indexb/glass..g
8 8
26x10°m/s (b) 2x10°m/s  (a)

3x108m/s  (d) 226x108m/s  (c)
38. Which of these is a non-renewable source of energy?
(a) solar energy (b) hydel energy

(¢) Wind energy (d) coal

ﬁwﬁﬁaﬁwmfm non - renewable gig ¥ ?
(a) HrERTAA (b) wrEfEw Tt

(c) vt SR P.T.O.
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S5y (0
(@

i i is bloc
39. Harmful ultraviolet radiation coming to earth 18 .

(a) cloud (b) ozone W

(d) forest

ked by:

(c) stratosphere

T AP aferer Ultra violate radiations ! AHAT T?

(a) <=« (b) SN
() wewRR (d) s
| te 35/ Ultra Violets4 Lude iyl
ol (b) St ()
£ @ At ()
40. Which of the following particles is called the particulate pollutants:
(a) | ozone | (b) radon
(c) flyash (d) Ethylene
g 9 fopaar  Particulate Pollutants #aq &2
(a) Siei (b) ©=
(c) = () el
?ut &L Particulate Pollutantsd_z —UiS sounr
L‘J!é/ (b) U ()
71 @ YA ©

41. Bleaching powder is manufactured by reacton of-
(a) Clz and CaCO3

(b) Cl2 and Ca(OH),
(c) Clz and CaSOy4

(d) Clp and Ca(HC03)2

2011320 (SET-D) (18)



T Ioe fhaat wfafrard Affa aard 2

(@ Ch g Caco, b) CL sk Ca(OH),
©) Cl st CaSO, d b s Ca(HCO,),
W e B ustduie i dilsy
Ca(OH)U;, Cl, () CaCO, ,,Cl;  (y)
Ca(HCO,), s CL, (4) CaSO, i €L, (o)

42. On mixing water to an acid its pH will-

(a) Increase (b) Decrease
(c) Remain same (d) Becomes neutral
% tfs # urt frem g PH &w-
(a) weiTE (b) #H @Y
(c) aTdlWT@ (d) TREmITTIL
PHSULAL & bQL A2
¥4 (b) o Ky (a)
J# (d) (‘czd" (c)
43. Rancidity is an example of: |
(a) Oxidation reaction (b) Reduction reaction
(c) Neutralization reaction (d) None
Rancidity ggerIqmeore | |
(a) sifeefieoraffE (b) =pfreerafafan
(c) weeryfasRar (d) =&

P.T.O.
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e JedSuRancidity

‘f(j/ (b) ﬂfgﬁ/f (a)

.. 0
44. Which is the correct order of reactivity of metals’

(@ Cu>Pb>Al>Mg (b) Mg > Al>Pb>Cu

(c) Mg>Cu>Al>Pb (d) Pb > Al > Cu > Mg
aTait Y wRvRraTefeaT F W 9 B-ATE ?
(@ Cu>Pb>Al>Mg (b) Mg > Al>Pb>Cu
(c) Mg>Cu>Al>Pb (d) Pb> Al>Cu> Mg
?:‘_t[fé‘wf/&u?wu:
Mg > Al > Pb > Cu (b) Cu>Pb > Al > Mg (a)
Pb > Al > Cu > Mg (d) Mg > Cu> Al>Pb (c)

45. An atom with electronic configuration 2, 8, 1 is:

(a) Metal (b) Non-metal
(c) Semi-metal (d) None
TAFIE BIHTRI 2, 8, 1 AT TCAT B
(a) =g (b) g
(c) ordmeng (d) =¥
W P ILAL Lo 1208 2, 8, 1
B <lesd (b) s
S @ a0

46. Alkaline KMnO4 oxidises ethanol to:

(a) Oxalic acid (b) Methanoic acid

(c) Ethanoic acid (d) Propanoic acid

2011320 (SET-D) (20)



47.

48.

(a) it iy (b) Aot ot
() vamEs = (d) e o
_‘L') .................. L/O)udlse();w"l KMnO4 U‘J|
methanoic acid (b) Oxalic acid (a)
Propanoic acid (d) ethanoic acid (c)

Burning of coal is an example of:

(a) Decomposition reaction (b) displacement reaction

(c) Neutralization reaction (d) Combination reaction

FNIA BT AT THHT T ST & |

(a) SroEeTUfRaT (b) feremamrafcfRar

(c) gRE=wrafaRear (d) e wiRar

-c‘-dﬁ'wﬁu kL s

displacement (b) decomposition (a)
Combination (d) Neutralization (c)

Saturated hydrocarbons (alkanes) under following reactions-

(a)  Substitution (b) Addition

(c¢) Elimination (d) None

S ETE R (qwh) Pt vl & o -
(a) wfereme (b) =%

() S (d) =

-&tbw 31 J~ Saturated hydrocarbons

BT oition () Substitution  (a)

None (d) Elimination (c)

P.T.O.
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49. The alloy of mercury is called:

(a) Brass (b) Bronze
(¢) Amalgam (d) Steel
I & firsr g Y HeT AT 8-
(a) e (b) wte
(c) s - (d) =W
o s e
N Bronze (b) Brass (a)
Steel (d) \ Amalgam (c)
50. The atomic radius of Li, Be, B, C varies in the order:
(@ Li>Be>C>B () C>B>Be>Li
(c). Li>C>Be>B (d Li>Be>B>C
" Li, Be, B, C & weamy e o & R i &
() Li>Be>C>B (b) C>B > Be > Li
() Li>C>Be>B (d Li>Be>B>C

-9,{)5’4& atomic radius”Li, Be, B, C
C > B > Be > Li(b) Li>Be>C>B (a)

Li > Be > B > C(d) Li>C>Be>B (c)

51. The area of the iron sheet required to prepare a cone 24 cm high with base radius 7

cm is:
2
2

2011320 (SET-D) (22)



I B 7 F & e i 04wy

T A et @ farg o W A
qTeT T & B- |
? (a1 sl
g e & 705m e
2
(C) 706 m @ 707 m2

et p§e AL L Qg §= 24 23l B s

2 2
705 m (b) 704 m )

2 2

A copper sphere of diameter 18 cm is drawn into a wire of diameter 4 mm. The
length of the wire will be:

52.

(a) 243 m (b) 242 m

(c) 241 m (d) 240 m

18 §1 A & T df B MR B @ 4 frft @ ar & e o 2 AR
SEIERRIE

() 243 m (b) 242 m
(c) 241 m (d) 240 m
b e SES SR 4 el 52 55 18
242 m (b) 243 m  (a)
240 m (d) 241 m (c)

53.  The number of lead balls of diameter 1 cm each that can be made from a sphere of
diameter 16 cm is:
(@) 512 g (b) 4096

©) 5096 ' (d) 8000 P.T.O.
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=T 1 A B A Jfew B HE N AW 16 ¥ D 8 § T 1 qH B AT -

(a) 512 (b) 4096
(c) 5096 (d) 8000 }

e SISl B L PR 1 s PG 16

4096 (b) ) 512 (a)

W 8000 (d) 5096 (c)

54. If the ratios of areas of two squares is 9 : 1, then ratio of their perimeters 1s:

@ 9:1 (b) 3:1
(c) 3:4 (d 1:3
Afe 3 it b &=t T AT 9 < 1, At I TRRT T ST B-
(@ 9:1 (b) 8:1
(c) 3:4 (d 1:3
' :ﬁ-_d,/liﬂvlpléul/g«?g.l : 9%15(,}’/&@/»)7
3:1 (b) 9:1 (a)
1:3 (d) 3:4 (¢
55. The chords which are equidistanfrom the centre of a circle are:
(a) equal (b) parallel
(c) perpendicular (d) none of these
3 oftar o O g B Hew @ FEA G T E -
(a) . W= (b) wwmIR
(c) em (d) 8 & =
1011104 Lﬁ/.'g:.@&;/’bgzlmﬁ
g (b) sz (a)
St (@) <4 ©
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s6. The ratio of length of a side of an equilateral triangle and its height is:
@ 2:1 () 1:2
© 2:43 ‘ @ 3:2
T FHATE I Y G 3t Fare ot et S oot oreurar &

@ 2:1 ) 1:2 . N

c) 2: V3 (d) V3:2
:%:b./l':(élfﬂtfd '»'&31:1\! PR PEOT
1:2 (b) 2:1 (3
V3:2 (@ 2:43 (9

57. The medians of a triangle pass through the same point which divides each of the

medians in the ratio:

(a) 2:1 (b) 1:3

c) 2:3 d) 3:2
@W%WW%%WW%QWM#Wﬁ

AR ware-

(a) 2:1 (b) 1:3
(c) 2:3 d 3:2
:;‘_r/(:'”:)tqttfuﬁﬁa—ui’u:‘:fyzugz_///:_ﬁmf’,éwug
1:3 (b) 2:1 (a)
3:2 (d) 2:3 (c)
P.T.O.
(25)
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58.

39.

cot* @ —sin* @ is equal to :
(a) 2sin® 61 (b) 1-2cos” @
(¢) sin’@—cos’H (d) noneofthese.
cot? 6—sin* 9 B TR
@ 2sin’6-1 (b) 1-2cos” 6

(c) sin —cos’ 8

d) FTHIFETE

SSF JAMIA MILLIA ISLAMIA e sl cot*@—sin* @

1-2cos” @ (b) 2sin® -1
-Jféfcgtul (d) sin’ @ —cos” @
2 9.
a _b”
If x=asin® and ¥ =b1tané then 2 2 isequalto:
(a) -1 (b) 0
(¢) 1 (d) 2
a’ b
aft x=asin@ gar y=btanf wx F—y—
(@ -1 (b) 0
() 1 (d 2
a b

-& x? y2 _> x=asinf g Yy =btan6d
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2 o)
60. Thevalueof SIN 60°+cos” 3004 g2 45°+sec? 60°— cosec? 30°+cos’ 0° is:

® 0 ® 3
7 (haduni 1 sl
: 7 s
© 2 d) ~3
sin” 60°+cos” 30°+ cot? 4504 sec? 60°— cosec?30°+ cos? 0° HT T -
@@ 0 (b) %
7
7 7
© 2 d 7

s sin® 60°+ cos® 30°+ cot? 45°+sec? 60°— cosec? 30°+cos” 0°

» % (b) 0 (a)
- :
2 @) 7 (©
61. The sum of the numbers 1 2+ 3 + —— + 49 is :
(a) 490 "0 by~ 1225
(c) 12250 (d) 122500
TR HTAM1 +2 +3 +—- +49%.; -. #
(a) 490 (b) 1225
) 12250 (d) 122500 |
Al 1 +2+ 3+t 49
1225 (b) 490 (a)
122500 (d) 12250  (c)
62. If P’h term of an A. P. id and q"’ term is p, then its first term is :
(a) zero (b) -1
(c) p+q d ptaq-l P.T.O.
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af p" = AP & 9 ¥R g" =k P & st uT qEa H &

(a T (b) -1
c) P4 d p+q-1

s Ath , At |
Z?.(/‘Il;{,(AP..J-"g".pr/q sle-qrs P KA.P./

sormamaisunia [N @

p+q-1 (d) ptq (c)
63. 1If f(x)=x*—5x+6, then /(3789492) js .

(a) zero (b) positive
(c) negative (d) none of these
afe f(x)=x2—5x+6,aa f(3.789492) E>
(@) = (b) wFRww
(c) RS o (d) TS
‘Lf(3789492)_.}' ‘f(x)z x2 —5x+6ﬁ '
=5 (b) 2 (2
St (d) & @
64. If system of equationsx +2y=3, & +ky +7 = 0 is inconsistent, thenk is:
2 2
(@ ~3 b) 3
S 5
() 2 (d) 3
ARFAFERB I ¥ 2V =3, Sx+hy+7=0 gt R k&
2 | 2
@ -3 b
2 _3
(c) 2 (d) 3
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ShAesl@x 12y =3 54 ky+7=0 rlb“’é"\/‘ﬁ

2 2
5 () | 35 (3
_3 5
2 @ 7 (©
65. Ifa+b+c=0,th a b &
L en the value(bc+a+ b is equal to:
(a -1 (b) 0
(¢ 1 | (d) 3
a+b+c=0 b?
afg g @ _+E+ab TR
(a -1 (b) 0
(c) 1 (d) 3
b2 .
i bc + bu¢a+b+c—0//’
0 © 1 ®
PP 3 (d) 1 (¢
66. If2*-2¥"= 16, then the value of x2 is equal to: |
(a) 4 (b) 9
) 16 . d) 25
Ry 2% —2¥ =16, ¥ x* BTHRE
(a) 4 () 9
(c) 16 (d 25
edlox? > e 2" -2""=16 ]
9 (b) 4 (a)
25 (d) 16 (c)
P.T.O.
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67.

68.

2 :
Ifx+%=3’ then X +;2’ is equal to:

(a) ? - (b) §9Z
(c) 7 (d 11
e x+%=3 T G x2+;17 PIANRLE:
(a) 1—39 (b) '892
(c) 7 (d) 11
A
5 o 7 @
11 (d) 7 (o)
The incorrect statement is:
(a) The sum of two rational numbers is a rational number.
(b) The product of two rational numbers is a rational number.
(¢) The sum of two irrational numbers is an irrational number.
(d) None of these.
T A &
(a) < IRATTETSH T AT UH IRAT FEAT R |
(b) 2 eRAT FEsi H1 3@ UF WRAT FEATd |
(c) & IUfRAT HEATSH T I U JURAT H@AT 2 |
(d) THIFETEN
g Ukl
LIS P (b) —eu el G P (a)
-tﬂﬁ’rédzd’ (d) -‘L)J‘Jbt/éi)fg)’ﬁldbt/;;” (c)
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e\ Y

9. Ifa and ; satisfy the euqation ax? + bx+c=0, then:

sl b= () b=c
w) UE5 | (d) a=0
R @ A % THET 2 +bx+c=0 B AT FATE, Al :
(a) a=c ) =g
(c) .a=b ’ @ a=0
W Jgt‘/u/“b”//lf ax? +bx+c=0 aand}l}
b=c (b) a=c (a)
a=0 (d) a=b ()
70. The sum of zeros of th polynomiz v — 5y 4 ¢ is:
(a) -6 (b) -5
(c) 5 (d) 6
LI X2 -5x+6 HYIAIATE:
(a) -6 (b) -5
(c) 5 (d) 6
e 6Lt - 5x 46
-5 (b) - -6 (a)
6 (d) 5 (c)
71.  The gas evolved when sodium bicarbonate reacts with aqueous hyrochlori‘c: acid 1s:
@ Ch (b) CO |
© 02 @ €02

9 Hifea TEHERE TAT SRgEiRG Uis & arg yiafear s € at e
fwfaa e e-
@) Cly (b) CO

) 02 @ CO2 PT.O.
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?4(3;‘ J{Lﬂ:}f IV 21/ reacte— aqueous acid Hydrochloric Jal Ko
Clp (a)
COp d) 0))] ©

72.  The substance that is oxidized in the reaction given below is:

Zn0 +C—->Z7Zn+CO

(@) Zn (b) ZnO
(c) C (d) CO

T8 verd it 2 & 7€ wfafhar § sitefiaga g -

Zn0 +C—> Zn+CO

(@) Zn (b) ZnO
(c) C (d) CO

‘e mOxidise sitdbd IR o s

EHERRERES AR Z00 +C > Zn+ CO

ZnO (b) Zn (a)
CO (d) C (o)
73.  Metals react with oxygen to form:

(@) Acidic oxides (b) Basic oxides

(c) Nutral oxides (d) Amphoteric

a1y T & e it @ a wiitr s@ &

(a) it siferss (b) v Herarss

() =Rt (d) Sorrenft
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‘U.?LL".L/U{/JVLOxygemLm
Acidic oxides (a)

Neutral oxides (c)

Basic oxides (b)
Amphoteric oxijdes (d)

74.  The name of the following compound is; __
CH3-CH -CH =CH, SSF JAMIA MILLIA ISLAMIA
(%) Bugme (b) Butane
R (d) Ethane
frfafes afe FTam -
CH,-CH,-CH=CH,
(a) Butyne (b) A
(c) Wi (d) €&
] ,_‘L ........................ rt(}'jl{:{djejp
CH,-CH,-CH=CH,
Butane (b) Butyne (a)
Ethene (d) Propene (c)
75. The conversion of carbonate ore into oxide by heating strongly in limited supply of
air 1s:
(a) Calcinations (b) Roaston
(c) Electrolysis (d) Leaching
TaT ) ftre TRl & goar @ TH F ATTETES § HIEIE STTEH H T ST
3
(a) Calcinations (b) Roaston
(c) Electrolysis (d) Leaching
_Ltu,( ................ UéU:OXide‘i)/r/u:dz'/”“{J'”K ore &9 K
Roaston (b) Calcinations (a)
' Electrolysis
PTO. Leaching (d) ysis  (¢)
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NCES.
d on SENTE
Directions: Tick the correct answers base

. " ith:
76. The sentence "What a nice day ends wit
(b) Full stop

i ark
@) Question m (d) Exclamation mark

(¢) Comma o
ing." i entence is this?
77. "Submit the assignment this evening. What kind of a s

(b) Assertive
(d) Exclamatory

(a) Imperative

(c) Interrogative .
78. May I leave a message with you? is an example of what kind of sentence?

(a) Interrogative (b) Exclamatory

(c) Declarative (d) Imperative
79. She writes a letterChange the sentence into Interrogative sentence:
(a) Does she write a letter? (b) Does she writes a letter?
(¢) Did she write a letter (d) Has she written a letter?
80. It is a very lovely rose. Change Assertive sentence into Exclamatory sentence.
(a) What a lovely rose? (b) What a rose lovely!
(c)  What a lovely rose! (d) What a rose beautiful!
Directions: Choose the right answers based on TENSES,
81.  Select the correct sentence. W
(a) James Watt has invented the steam engiﬂe.
(b) James Watt Had invented the steam engine.
(c) James Watt invented the steam engine.
(d) James Watt was invented the steam engine.

82.  Select the correct sentence:

(a)  The train has left an hour ago. (b) The train left an hoyr ago.

(¢) The train leaves an hour ago, (d) The train will leave an hour ago.

2011320 (SET-D) (34)



4. Medha has been a teacher ip this school
of what kind of Tense:

(a) Past Perfect Tense : ,
(b) Present Perfect Tense W
(c) Present Perfect Continuous Tense

(d) Present Continuous Tense

for the past five yelsrsan example

g4. Select correct option for the sentencel have been preparing for exams
last month.

(2) Till (b) For
(c) Since (d) Before
85. Complete the sentence:The train had left
(a) Before I arrive. (b) Before I have arrived.
(c) Before I arrived. (d) Before I am arrived.

86. Change the sentence into Simple Future Tense- Ankita had been writing a letter.
(a) Ankita will write a letter. (b) Ankita writes a letter.
(c) Ankita wrote a letter. (d) Ankita is writing a letter.
87. He wants to celebrate his birthday tomorrow. Is an example of what kind of

tense.
(a) Future Indefinite Tense. (b) Present Indefinite Tense
(c) Past Indefinite Tense (d) Present Perfect Tense

88. Choose the correct sentence:
(2) 1 lived in Delhi since 1972. (b) I have lived in Delhi since 1972.
(c) I live in Delhi since 1972.  (d) I am living in Delhi since 1972.
Directions: In this section Direct speech sentences are given and you are required to find
the correct Indirect speech sentence of the same.
89. The teacher said to me, " What is your name?"
(a) The teacher told me What my name is. '
(b) The teacher said to me What my name was.
(c) The teacher asked me What was my name.

(d) The teacher asked me What my name was. P.T.O.
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90. Ramesh said to me, "My book is better than yours.

: ine.
(a)  Ramesh told me that his book was better than m

(b) Ramesh said me that my book is better than yours.

(c) Ramesh says to me that your book was better than mine.

(d) Ramesh asked me that his book is better than yours. 7
SSF JAMIA MILLIA ISLAMIA

91. The teacher said, "Honesty is the best policy."
(a) The teacher tells that honesty was the best policy.
(b)  The teacher said that honesty is the best policy.
(c) The teacher said if honesty is the best policy.
(d) The teacher will say that honesty is the best policy.
92. Ashok said, "Father, I assure you, I shall not go to the pictures again."
(a) Ashok assured his father that he would not go to the pictures again.
(b)  Ashok assured his father that will not go to the pictures again.
(c)  Ashok assured his father that he shall not go to the pictures again.
(d)  Ashok assured his father that he would not be going to the pictures again.
Directions: In this section Indirect speech sentences are given and you are required to find
the correct Direct speech sentence of the same.
93. Harry exclaimed with joy that he had won the first prize.
(a) Harray said, "Alas! I have won the first prize.
(b) Harry tells, "Hurrah! We have won the first prize.
(c) Harry said, "Hurrah! I win the first prize.

(d)  Harray said, "Hurrah! I have won the first prize,
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" He told me that if I were Present there I would weep.

(a) He said to me, "If yoy were present there, you would weep."
(b) He asked me, "If I were pregent there, T would weep."

(c) He says to me, "If I were present there, I would weep."

(d) He tells me, "If I were present there, you would weep."

g5, He asked me why I had struck him, W

(a) He said to me, "Why did you strike me?"
(b) He said to me, "Why were you strike me?"
(cj He asked me, "Why did you strike him?"
(d) He told me, "Why was I strike him?"

Directions: Read the following passage carefully and mark out the correct answers

from the alternatives given below, each question.

Passage

The political system always dominates the entire social scene; and hence
those who wield political power are generally able to control all the different social
sub-systems and manipulate them to their own advantage. The social group in
power, therefore, have always manipulated the education systems, especially when
these happen to depend upon the State for their very existence, to strengthen and
perpetuate their own privileged position. But herein lies a contradiction. For the
very realization of their selfish ends, the social groups in power are compelled to
extend the benefits of these educational systems to the underprivileged groups also.
The inevitable task is generally performed with three precautions abundantly taken

care of:
P.T.O.
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N ¢ Jelr
.

inci ficiaries of
(1) The privileged groups continue to be the principal bene the

ion or the hard cor
educational system, dominate the higher stages of educati "

. 1 of courses, so as tg
of prestigious and quality institutions Or the most usefu ’

safeguard their dominant position of leadership in all walks of 11.fe‘. .

(2) The system is so operated that underprivileged groups ca.n utilize it only
marginally in real terms and the bulk of them become either drop-outs or
push outs and get reconciled to their own inferior status in society.

(3) The few from the weaker sections that survive and succeed in spite of all the
handicaps are generally co-opted within the system to prevent dissatisfaction,
But eudcation is essentially a liberating force so that,. as time passes, some

underprivileged groups to manage to become aware of the reality. The number of

educated persons soon becomes too large to be fully co-opted, and many able
individuals among them strive to organize and liberate the weak and the
underprivileged. The resultant awareness of the people, combined with suitable
organization, necessarily leads to adjustment in the social structure and to an
increase in vertical mobility so that new groups begin to share power. Eventually,
other social changes also follow and the traditional, inegalitarian, and hierarchical
social structure tends to be replaced by. another which is more modern, less
hierarchical and more egalitarian. The educational system, therefore, is never
viz, it
helps the privileged to their own status in society and also tends to liberate the

politically neutral, and it always performs, three functions simultaneously,

oppressed. Which of these functions shall dominate and to what extent, depends

mostly on one crucial factor, viz, the quality and quantity of the political education

which the system provides or upon its political content;
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The developments ; : :
In Indian Society, polity and education during the past 175

ars should be view i
ye ed against the background of this broad philosophy. From very

ancient times, the Indj '
a0 society has always been elitist and power, wealth and

ucation were most]
ed Y confined to the upper capacity to adjust or to absorb and, for

at very reascn, it j . . y .
th Ty IS extremely resistant to any radical transformation. The social

m conti i : i
syste nued to exist almost unchanged till the British administrators began to
lay the founcation of the modem system of education.

96. The Indian society has always been:

(a) Insensitive to the needs of the elite groups.
(b) Less hierarchical. | -
©  Politcally neutral, I
(d) None of these.
97. Which of the following statements is true regarding thsoe who control political
power?
(a) They try to establish a just social order.
(b) They try to control all the different social sub systems.
(c¢) They facilitate the upward mobility of the underprivileged classes.
(d) They manipulate the economic system for the benefits of the under

privileged.

98. The social groups in power have manipulated the educational system because:

(a)
(b)
(c)
(d)

They wanted to. preserve their special status.
They wanted to give maximum benefits to the underprivileged.
They wanted to introduce social changes through the educational system.

They wanted to make it Politically neutral. P.T.O.
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99.  The Indian social system is resistant to the major changes because:
(a) It is basically elitist.
(b)  Power, wealth and education are mcst
(¢) It is extremely traditional and conservative.
(d) It can absorb social changes without changing its basic framework.
100. Why do the majority of underprivileged groups become drop-outs?
(a)  They constantly suffer from the feeling of inferiority.
(b)  They do not possess the required intellectual potential to survive in the
educational system. |
(c)  The system is so manipulated that they can not utilize it meaningfully.
(d)  The privileged groups continue to be the major beneficiaries of the system,

ly confined to the upper classes.

SSF JAMIAMI
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